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E5 M (mm) £ (m) FEm HIERS HE
(1) 1.00 1.10 0.020 I
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V=0.01 (18) x0.015(GRE) xL(FER) x 1750 (LLE)

3) ERHE
® VUbHhESE
L = 1.10%3 = 3.30 m
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V = 0.01*0. 015%3. 32000 = 0.99 ke
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2. PEEBRAERT

ZEmMBEHEE(ZD)
B £ Al m®/m X m FyhEE mE | A% | EEEE w &

1 PL 0200 x 3.977 2 26 41.36
2 PL 0200 x 4.865 2 26 50.60
3 PL 1217 x 4071 44 % 2 26 113.36
4 PL 0200 x 3.027 2 0.00
5 PL 0200 x 3915 2 0.00
6 PL 1217 x 3.121 46 % 2 0.00
7 PL 0200 x 2.582 2 26 26.85
8 PL 0200 x 2.958 2 26 30.76
9 PL 0904  x 2.803 55 % 2 13 36.23
10 PL 0090  x 0.200 65 % 2 26 0.61
1 PL 0090  x 0.200 65 % 2 26 0.61
12 PL 0090  x 0.420 63 % 2 52 2.48
13 PL 0090  x 0.200 65 % 2 104 2.43
14 PL 0300 x 0.400 1 26 3.12
15 BN 8.00 m?2/10002 1 52 0.42|M27
16 H.T.B 5.29 m?2/10004 1 1144 6.05|M20
17 H 1163 x 0.521 94 % 1 13 7.40|H200 x 200 x 8 x 12
18 H 1163 x 0.712 95 % 1 13 10.23|H200 x 200 x 8 X 12
19 HTB 5.29 m?2/10002 1 260 1.38[M20
20 H 1748  x 0.922 78 % 1 13 16.34|H300 % 300 x 10 X 15
21 H 1748  x  3.356 1 13 76.26| pag 101
22 H.T.B 5.29 m?2/10004 1 364 1.93[m20
23 [ 0679  x 1.760 1 26 31.07|[200 x 80 x 7.5 x 11
24 L 0293  x 3.250 1 26 24.76|L75%X 75X 6
25 L 0293  x 2.440 1 0 0.00|L75x 75 % 6
26 L 0293  x 1.880 1 13 7.16|L75x 75 % 6
27 PL 0290  x 0510 98 % 2 26 7.54
27 FERR -0.040 «x 0510 2 26 -1.06(2,55v7E
27 B -0.200  «x 0.230 2 26 -2.39|1235v 7@
27 FERR -0.075 «x 0.180 2 26 -0.70(24,255v7®
28 PL 0290  x 0.410 79 % 2 26 4.88
28 FERR -0.030 «x 0.410 2 26 -0.64(2,55v7E
29 PL 0265  x 0.300 94 % 2 26 3.89
29 FERR -0.030 «x 0.300 2 26 -047|25v7®E
29 B -0.075  «x 0.220 2 26 -0.86|245v 7 &
30 PL 0300 x 0.300 95 % 2 0.00
30 B -0.030  «x 0.300 2 0.00|55v 7@
30 FERR -0.075 «x 0.220 2 0.00[255 7@
31 PL 0200 x 0.305 91 % 2 26 2.89
31 el -0.077  «x 0.200 2 26 -0.80|125v 7@
31 2173 -0.075  «x 0.160 2 26 -0.62|1255v 7 &
32 BN 2.82 m?2/1000& 1 260 0.73|M16
33 H 1340  x 1.920 1 13 33.45|H294 x 200 x 8 x 12
34 PL 0300 x 0.670 81 % 2 26 8.47
34 2173 -0.265  «x 0.294 26 -4.05(55v 7@
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ZEXEBHEE(ED2)

B £ Al m?%/m X m  x fybEE mH | A% | EEEE i %
35 H.TB 5.29 m?2/10004 1 104 0.55|M20
36 RB 0069  x 2.540 1 26 4.56| ¢ 22
37 PL 0150  x 0.200 2 52 3.12
37 b2el=S -0.075  «x 0.075 2 52 -0.59/2.5,8,20215v &
38 PL 0070  x 0.150 2 52 1.09
38 b2el=S -0.075  «x 0.075 2 52 -0.59|375v 7 &
39 BN 4.23 m?2/1000& 1 52 0.22|M20
40 PL 0290 x  26.000 2 1 15.08
40 gl 173 -0.100 x  26.000 1 1 -2.60[conSvTH
41 PL 0150 x  26.000 1 1 3.90
42 FB 0112 x 0.273 1 18 0.55|FB50 x 6
42 B -0.050  «x 0.273 1 18 -0.25|#KESYTE
43 FB 0112 x 0.140 1 9 0.14|FB50 % 6
43 b2el=S -0.050  «x 0.050 2 18 -0.09|425v 7 &
44 BN 1.38 m2/100024 1 18 0.02|M12
45 Pipe 0240  x 1.400 1 24 8.06| #76.3
I Et 574.84[m?

FyFTL—hk (t=45mm&LTEHE)

120.5m Y O Fr Bl E R
|28.8 x 0.0567/2-0.070 0.746|m?/m
KFERFZEE
| 178.9|m?
MEEROEHE(=1.053)
1789 x 1,053 x (0.746/0.500) 281.07|m?
BEERSE 855.91 |m?
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2 |FHkT
FrkT = RER K m2 | 4371
RER m2 | 4100 410
I &R (27m2) m | 1356 136
FRAE m3 | 1230 120
BKE wa m3 24 2
b4 m3 | 1206 120
sk
avoy—hEIA HIFLE $ 120 &R 6 6
=Lt 2—IL# 2.0kg m 15 2
kg 90° TJL7R (¢ 100FH) &R 6 6
90° Y(¢ 100/) &R 6 6
VPE (¢ 100/) m 47 5
0% i LB LE 5 200X 200 &R 6 6
HERE(ERE) m2 1.5 2
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1) BhKIT  ( StEgebhke )
Al Gz = FAKTE KLY

( 1+ L2 + 1 + L4
= ( 60 + 58 + 613 + 85

A2 (5 88200m)

2) FRiE
V = 410 x 030

3 BAKRE ( BE )

V = 020 x 020 x 60
4) 1BR

vV = 123 — 24
(2) ek

1) avo)—rEIFL
BIFLZEP120 x HIFLER L=250

2) FA#M ( IRFUHE BAKEES7r-

W = m/4x( 0122 — 01142 )x
L = 025 % 6
3) HEKE

90° TJLAR (¢ 100F)

90° Y(¢ 100F)

VPE (¢ 100/)

L = ( 0389 + 039% ) X 6

4) IR LBFEE] (200X 200 )

5) BKEHRE (BEE)
A =( 050 x 050 ) x 6

1200 kg/m3 )

0.250

X

1200

= 4100 m
= 1356 m
(271) m2
&5t = 4371 m
= 123 m3
= 24 m3
= 120.6 m3
N = 6 @&
X 6 X 120
W 24 ke
= 20 kg
L = 15 m
N = 6 Ed3il
N = 6 AT
= 47 m
N = 6 @&
= 1.5 m2
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M RYRE
-TBARFELT = 84 x 2715 = 231.0m2
-FHAIEL = 06 x 281 = 16.9 m2
=1 247.9 m2
= 250 m2
(2) HERIS
«JI4E L1 = 40 X 268 = 107.2 #m2
- LAl L2 = 40 X 263 X 2 @ = 2104 #pm2
=11 317.6 #m2
= 320 #hm2
2)  Fyyhyx-49
L1+L2+L4
601 + 58 + 85 = 743 m
&5t 743 m

= 74 m



